i
I
T
Tl
P=ai
I

1. ¥4
(54 REFIFIRE =& U o ViR ES
BT AT (B) Fnak e
() ZEHRFEREICERT

2. ¥HENRE

1) HEI4 FerEm N EEE BT FsiA/KRR
2) JBATHIM 369 HH H &% 74 6H27H

S 8% 6H30H

3) WErEMA
AREVIE, RE)IOFESE TFEIC L DRE~DREBEL MR T D7D OWJIBR
s (F=2 V7)) FaeEiT sz HNLT2¥E THD,

4) EHBNE
HAGE B 2@ WTOKRA 4@, BHEER 10 FErEdE 15K W
JIBREHA (E= V7)) 48 1M,
FNBREEHE (f=4 V7)) WERE) 1,
FNBREHE (f=4Vr7) (F=@lk) 58,
EMRLDELD 1 REEEER 1K

-1- EtrEE T R



B
EW4 | RBINIREE=2 ) v 7 REEE ER i A
H H — A
B E I % i 3 B {7 # & #A OB N R
— AR A =X 2, 542, 080
[EReZH ECE =X 2,512, 246
YK AR A =X 636, 966 | M LEHAE
2 [A]
MEEREVE LD
1 =
HF KA = 1,137,680 | Hi F/KFHA I
2 [A]
R KFAA I
2 [A]
ENFHERBRE
2 [A]
TEERLEVELD
1 =
FEE AT 2o B B2 AN E 2 = 647, 600
CRAD® ST D% ¢ = 90, 000
MR A R = 29, 834
ik AL = 29,834 | fr#y (R E - wIAAE - — )
1 =
ERE A+ A = 2,542, 080
il = 1,917,920
RERR L =X 1,917, 920
— xR = 4, 460, 000
-1 - [E 238 T s i



Vv

b

Rk

EW4 | RREINIBREEE =4 Y » 7 iRA RS

BEIES

) | B 5 i

THH - TR - R 4 %A R
Tl 1 BR R A 5, 849, 250
) 1 BR BT A 5, 849, 250
A1) 1 B A A 5,849, 250 | (i
1 =
HHTHA
1 X
FIEREEE (E=% VU 72)
1 [=]
FIEREEE (E=% VU 72)
1 6]
FIEREEE (E=% VU 72)
5 6]
AEFEREVE LD
1 X
RAEFEREVELD
1 X
WEEIER
1 X
I = 572, 920
il GREFED) X 135, 420
INBR AR SRR X 135, 420 | ZABHRE AL VERR
1 kW
HiE GRA - FHEEER) 2V 437, 500
few% X 437,500 | FI&H
1 =
FEE AT 3 D LB A 2V 1, 594, 100

EtrEE T R



EW4 | RBINIREE=2 ) v 7 REEE ER i BRES
H B TEAESRATREENC 230 D B A
B E I % i 3 B {7 * & #A OB N R
TEEFRA TR 200 5 [E 82 A2 =X 1, 594, 100
EAE AT 2o B BB N2 =X 1, 594, 100
B =X 321, 334
[EREE 3 =X 321, 334
& ik ey 166,334 | Fk# (FEHL - EAA - A )
1 =
CRAD® ST D% ¢ = 155, 000
EEFM (2 OMFEMmER<) = 8, 337, 604
Z OJFEAT = 4,316, 761
— N E B = 6, 805, 635
SRS oy 19, 460, 000
eSS oy 23, 920, 000

EtrEE T R



